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18P/201/21 Set No. 1
No. of Questions /vt i w&ar : 120

Pime /TAT ; 2 [Tours /902 Full Marks/quife : 360

{fote ;

(1) Attempt as many questions as you can. Each question carries 3 marks.

One mark will be deducted for each incorrect answer, Zero mark will be
awarded for each unattempted question.

HUHNFE TH H B T H T R TAF TH 3 6F F o2
WWW%WWWWWIWWWW
YWk Y B

(2] If more than unc alternative answers seem to be approximate to the
correct answer, choose the closest one.

M TE AFAE W TR IW F e W 9, @ FEow wd
I 2

The accounting concept where business is treated as a separate entity from its
proprietor it is
(1} going concern concept (2) dual aspect concept

(3} business entity concept (4) realisation concept

1 (P.T.O.,)
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3 SRETEA FIURN S Hea 36E @i 8 e e @ €, T8
(1) ¥o@ @ @I (2) 3@ R w2

(3) eE AfEGE IFUR ¢ (4) T FTUROT B

2. Which one of the following is a deferred revenue expenditure?
(1) Intcrest on capital (2) Preliminary expenses

(3) Repair of fixed assets (4) Cost of stores

frafafaa & 8 51 wF smufia voa =g 27

(1) I ® = (2) wrafis =4
(3) Tt gwofyat & 9o (4) Hvgrv F TG

3. Causes of depreciation is/are

(1) effect of timc (2) permanent fall in price
{3) obsolescence (4) All of the above

B % FAU BT

(1) 599 1 99 (2) 7w ¥4 wurl fioae

(3) FATS (4) ITrF A

4. An asset was acquired on 1st January, 2016. On 1st January, 2018 its writie:
down value after charging depreciation @ 10% p.a. on diminishing balance is R
8,100. The original cost of the asset was

(1) Rs 10,000 (2) Rs 11,000 (3) Rs 9,000 (4) Rs 12,000

(18) 2
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L sall, 2016 ® W qui Afpda g8 1 S, 2018 # e smfrEn g
10% gft A4 g S % U Wl WY W 8,100 %o gl wRy w1 AR qeu o

1) 10,000 %o (2) 11,000 & (3} 9,000 %o (4) 12,000 %o

A proprietor withdrew goods worth Rs 8,000 from the business for personal use.
The adjustment entry would be

(1) Drawings A/c Dr To Purchases A/c
(2] Purchases A/c Dr To Drawings A/c
(3) Drawings Afc Dr To Sales Afc

(4} None of the above

s @l 3 SEEd 8 S|t T gq 8,000 %o #i Wt foan wwwem uRafy
(3l

(1) JEW @ sfee 2 %3 @ (2) %9 @ efae g s
(3) smerr @ gfw 3 faww @ (4) 390 | ¥ HE 48

X,Y and Z are partners sharing profits in the ratio of 8:5: 3. X retired. Y takes

5 ;5
3 share from X and Z takes T share from X. The gaining ratio is

5 3
11 1:1 2} —:— or5:3
(1) (2) 1616
3 5 1 3
P e 3:5 4y — 1 = 1:
B 16716 " B {7 1e o153

3 (P.T.0.)
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(18]

X,y ot z @l # 8:5:3 & UG § aed T OEREE X T SEET U7
ﬁmn?ﬁxsﬁw%%wawzixmf%mﬁﬁwuwwﬁham?

6_
5 3
1) 1:1 2 - HqYd] 5
" |{'11'!?:': 16 5:3
(3) i-i HYET 3: 5 (4) _!_- 3 AET 102
16 16 ' 16 16 B

A company offers to its shareholders the right to buy one share of Rs 12 each for
every four shares of Rs 10 held. The market value of share is Rs 30 each. The
value of the rights share is

(1) Rs 22 (2) Rs 360 (3) Rs 26:40 (4} Rs 10

w F A smEfE A OS 10 %o F AR W W E, v sim e g 1o
%o 2 @itey w1 aifien ot 2| 9l AW W ANE 0 30 %o B sfmm oam o
T 2

(1) 22 %o (2} 360 %o (3) 26-40 %o (4) 10 %o

Premium on redemption of debentures account until redeemed is shown in

(1) current liabilitics (2) current provisions

(3) provision for liabilities (4) long-term provisions

F9E & e 7 fiftgn @ sees ot 98 @9, 99 @ 9w Awia s 2
(1) = =ifaea 4 (2) e WrEHH H

(3) aifeea &g wauE H (4) At e A
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11.

12.
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Which information is not significant in profit prior to incorporation and after
incorporation as well as in the preparation of Balance Sheet?

(1) Goodwill (2) Purchases (3) Cash Balance (4) Debtors

FOREH F O U v W e A et Ry s § aR-d g weet @
87

(1) = () %4 (3) kg FH  (4) FHER

According to Companies Act, 2013 the format of P/L A/c is included in

(1) Annexure I1I (Part II) (2) Annexure I (Part II)
(3] Annexure V (Part [) (4) Annexure III (Part I
FOAt AR, 2013 F FTAN AN-FH @H H w9 WS 2
(1) sgg=h Ui (wmn 1) @ (2) g 1 (wwr q1) #
(3) SER V (s a) H O (4) g 1 (v D) o

Indian Hire Purchase Act was promulgated in the year

v o wn fufem G 87 o ad R
(1) 1971 (2) 1972 (3) 1974 (4) 1975

What is/are the rights and responsibilities of a hire-buyer under hire purchase
agreement?

(1) To obtain any information regarding account
(2) To settle early the full outstanding amount
{3) To terminate the agreement at any time

(4} All of the above
= (P.T.0.}
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Fe F4 TS % s U PRE-da % Afuen v A we e
(1) @ & Tl F3 o1 TH

(2) s T F vRet FrafE Fr

(3) ¥FF H R W T S

(4) IFRE T

13. Section 22 of the Hire Purchase Act, 1972 is concerned with

(1) owner is entitled to terminate the agreement

(2) owner can realise the outstanding with interesi
(3) owner can repossess the asset

(4} owner is not liable for the upkeep of the asset
e wa afufiam, 1972 & uw 22 Wk @

(1) ®Ife @i 9tal 99d FE H AU R

(2) miferw s W s % WY TS HOHeRAT @

(3) mifetsh QAT YT F EAT @

(4) ifer Tt I ZEY TEA w1 IEEl T 2

14. The nature of Branch Accounts is
(1} real (2} nominal

(3) personal (4) real and nominal both

(18) 6
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(1) st (2) Tt
(3] ST (4) IrEfF wd sEwat 2

15.  Which type of branch maintains complete system of accounting?

(1} Pependent Branch (2} Domestic Branch

(3] Independent Branch (4) Inland Branch
fr wer 1w wrEred Ol gored Tt 27

(L) OE T (2) W T (3) Frifm e (4) e W

16. Wholesale price method is under

(1) Dependent Branch (2) Independent Branch
(3] Foreign Branch (4) Head Office Branch
(1) @nfsm sman (2) Frofm s

(3) faeeht wman (4) T FRTeE T

17. Revenue items in Foreign Branches should be converted at the
(1) current rate (2) closing rate  (3) opening rate (4) average rate
favit ymEen & ToRa WE aeelt wt @
(M sgF w2 AmE W (3) WEEm W (4) I W

1 8| 7 (P.T.0.)
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18. During the year 2017, Varanasi Branch Account showed a net profit ol
Rs 6,000. The Head Office shall pass the Journal Entry

(1) P/L A/c Dr to Varanasi Branch Afc

(2) Varanasi Branch A/c Dr to Capital A/c
(3) Varanasi Branch A/c Dr to P/L A/c

(4) No Entry

af 2017 # awoE W @ 3 6,000 ¥o F G AN AN YUH I o
yfe

(1) S9-gH @ e 3 JrvE s @
(2) =ooRl wirEn gfa 2 gSt @

(3) amrEt s gfee g s @

(4) = wfafe

19. Departmental Accounts are prepared separately to know the
(1) establishment expenses of each department
(2) sales of each department
(3) profit/loss of each department
(4) efficiency of each department
fowrfta @ sem dan BR 9 @ 9 % Rl
(1) I fauqm 1 T =5y (2) % faam 6 frhr
(3) W fawm it &/ (4) I fawm A emE

(18) g
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20. The basis for allocation of Salary to General Manager’ is

21.

22.

18)

(1) number of workers

(2) time devoted by General Manager

(3) prohit of the organization

(4} should not be apportioned

"HRIEF B A F dER F oauR R

(1) FWM H FE& (2) WETUERHE gl femn T wwy

(3) HI3T &1 N (4) deam & G s g

When there is inter-departmental transfer of goods, the provision for unrealised
profit is shown in

(1) Trading and P/L A/c (2) General P/L A/c

(3) Balance Sheet (4) Statement of Affaire Ajfc

v far # aegelt W ool TEram @@ 2, @ RogeEl aW ¥y s b
SR

(1) 9K U@ @H-gH @ o (2) T E-Eh @
(3) enfds fag o (4) va fmor @m &

The gross profit of departments A and B are Rs 2,12,500 and Rs 2,10,000
respectively while stock reserve is Rs 10,700. The consolidated gross profit is

(1) Rs 4,11,800 {2) Rs 4,22,500

(3) Rs 4,33,200 (4) None of the above

9 (P.T.0.)
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o A 9o B ¥ 9%FE @MW 2,12,500 Fo d€l 2,10,000 %o FHHI: 3, e WE
=7 10,700 Fo 2| TEHfEA dohet o9 2

(1) 4,11,800 %o (2) 4,22,500 %o
(3) 4,33,200 %o (4) J00% 0 o & TR
23. In ‘Statement of Affairs asset side’ as per which list the dehciency s shown?

(1) List H (2) List D (3) List G ) LT

‘ferfs e & gl ) o w4 fFeE amAr fad st 27
(1) g H (2) gt D (3) g&=h G (4) gt F

24. In the books of lessee, royalties based on output should be debited to

(1} Trading or P/L A/c (2) Manufacturing or Production Afc
(3) Lessor or Landlord A/c (4) Expenses or Payment A/c

Ugel % @R H, 39 Iunia afven s sfwe fen smm

(1) =R 37YET AM-E1H @i | (2) Fmin s¥&Er 3| @ o

(3) TgIET Sl EE T (4) @ He@ YR @n

25, Minimum Rent 1s not known as

(1) Fixed Rent (2} Flat Rent (3) Time Rent (4) Dead Rent
em T =t 3 S oS R

(1) ®arft R (2) moR FRmEn (3) ma e () ga T

(18) 10



26.

27,

28.

29.

18}

18P/201/21 Set No. 1

The right of recoupment of shortworkings cannot be

(1) restricted (2) unrestricted
(3) carrying forward indefinitely (4) contractual
dgFEd # g w0 # afmnr TE B gear 2

(1) i (2) st

(3) IHTa @Yy &% & 9= (4) st

When the market is rising and prices are continuously going up, the preferred
pricing of inventories is

(1) FIFO (2) LIFO (3) Average Cost (4) Market Price

S AN 9E @R TN Yo HaE 9g R €, @ WU F AR i 2

(1) e (2) =t (3) oftgd @rE (4) TR oA
For each product profit and loss could be revealed by

(1) Financial Accounting (2) Management Accounting
{3} Cost Accounting (4) Both (1) and (3)

YRI® IeAIE h oW 3UET B Rl a1 ST 2

(1) fefa srErsA (2) YA @
(3) S @ (4) (1) @@ (3) g
Which one of the following is not a factory overhead?
(1) Indirect wages (2) Leave wages

(3} Overtime premium (4] Productive wages

i1 (P.T.O.
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30#

31.

(18)

frifiea & 8 %W u Fwa ey T@ 27
LR ERY (2) SRR HSIGH
iSjaﬁmqﬂxﬁﬁnm (4) IEF THEH

Suppose : Selling price—Rs 50,000; Profit—20% of cost; Cost—Rs 100. Then the
total profit would be

(1] Rs 10,000 (2) Rs 8,333:33 (3] Rs 8,750 (4) Rs 8,000

AT : frEE gEE—50,000 Fo; TM—20% A H; @E—100 %o, d Fel wi
Gl

(1) 10,000 %o  (2) 8,333:33 % (3} 8,750 %o (4) 8,000 %o

Encashment of earned leave is fully taxable, if encashed
(1) after retirement
(2) after death

i3j during the period of employment or after retirement
(4) during the period of service

AT S TG R FErg @ AR T

(1) Fafghy & = 2

(2) 38 & waw @

(3) TSR % ghm @1 ¥aAgia & gvEE @

(4) T F P B

12
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Interest credited in Recognised Provident Fund is exempted up to

Wﬁmwﬁmﬁfhﬁmmaﬂgm%

(1) 8% (2) 9% (3) 9-5% (4) 10%

Which one of the following allowances is exempted under Indian Income-tax
Act?

(1} Dearness Allowance [2) City Compensatory Allowance
(3) Forcign Allowance (4) Medical Allowance

WA EH AUMHTH & Fa BH-H TAT FE 27

(1) TS s (2) TR SREE =

(3 faewm wwn (4) Fafeear s

For computation of tax, agricultural income is added in the total income of

(1) Individual (2) Firm (3) Company (4) Local Authority
H FE FH & R N o F T om & wfw e e 2
(1) U =afR (2) wH (3) Y (4) T Tar

On the basis of residence, assessees are divided in

(1} Indian and foreigners

(2) resident and non-resident Indians

(3} ordinary resident, not ordinary resident and non-resident

(4) persons, firms and companies

13 (P.T.0,)
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36.

37.

38.

(18)

fram -t & YR W Al # ared 8
(1) e @ faceh

(2) Frawft qn f-Fand s

(3) wmemr Fardh, swmgmn Faw @ AFam
(4) =afeh, U1 FAUAT

Income-tax Act was passed in which year?

AaFT fufEw fFg ad uifta feg @ any

(1) 1961 (2) 1971 (3) 1951 (4) 1981

An activity concerned with the planning, raising, controlling and administering
the funds used in profit seeking organizations is {

(1) Public Finance (2) Industrial Finance

(3} Business Finance (4) Institutional Finance

e nfefaRed St e FR arch Gl d e #@ 3 FEsE, e e w
e # g g ¥, W we &

(1 m&aﬁiﬁ ﬁﬂ {2} ﬁﬁrﬁa; fa= (3) wrEEaE e (4 Hr e {3

Which one of the following is the classification of Business Finance?
(1) Public Finance and Private Finance
(2) Personal Finance, Public Finance and Partnership Finance

(3} Finances of Sole Trade Business, finances of Partnership Business and
Corporate Finance

(4) Both (2) and (3)
14



39.

18)

18P/201/21 Set No. 1

et & @ #-ar a'mm = ol 27

(1) ad=ts faa aon fsh R
(2) i 9w, adwts fm au aged fm

(3) WA MR T, Al sreEm & a9 qw fm R
(4) (2) w@ (3) g

Which one of the following is the traditional approach of finance function?
{}) 1t1s an outsider-looking in-approach
(<] it is an insider-looking out-approach

|3) 1t is a continuous administrative function
(4) None of the above

e 8§ wR-m fom o wdl W vow e @7

(1) Smert =Rk g WH & s A femmem 2
(2) SalE-Tera-aTE el i TR B

(3) e smafis s 2

(4) I9UF H | HIE TR

Which one of the following characteristics is a modern concept of finance
function?

(1) The task of providing funds to an enterprise on terms that are more
favourable

(2) Finance function is of centralized nature

(3) The finance function is more descriptive

(4) More stress on judicious and effective use of funds

15 (P.T.0.)
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Frafafaa Rl 3 & FW-w fda w6 @ omyfie femam 27
(1) Wﬁm@meﬁtmmaww%
(2) fam B 6 Wi FEa 2
(3) Fre far sfim avfarers 2
(@) wF @ W 3R WA T
41, The objective of a Public Company 1s
(1) management of liquidity
(2) maximization of profit
(3) maximization of shareholders wealth
(4) management of fixed assets
T FESE R F IR D
(1) T FT g
(2) HAfiehan @IS
(3) srvrurfal & wRfT & qed d wAfeskan gig
(4) Tuwft wofaal &1 wey

42. What is ignored in the principle of profit maximization?
(1) Time value of money (2) Risk

(3) Wealth creation (4) All of the above
(18) 16
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Hrm T % fgr § @ SR R T 27

(1) Tg1 #1 oo e (2) sifig
(3) wrafe arfq (4) ITF wh

43. "A bird in hand is worth two in the bush.” This presents the concept of
(1) present value of money (2) gross present value of money
(3] time value of money (4) All of the above
A g 7 HE IUR)” e S w2
1) 921 % 909F gea ¥ smearom (2) T % WHA I F HIURON H
(3) Wl % W YA & AN B (4) 3w wh

44. Financial Plan includes
(1} firm’s financial objectives
(2) financial objectives and policies
(3) fnancial objectives, policies and procedures

(4) None of the above

o faem o afffm 2
(1) w4 & forfm wisg (2) foefra s o et
(3) fasfta wew, Hfifegt qen wiyfimt (4) IR® A 4 FE T

18] 17 . (P.T.0)
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45,

46,

(18]

Factor(s) affecting the Financial Plan

(1) trading on equity policy

(2) capital gearing policy

(3) trading on equity and capital gearing policy
(4) None of the above

1 5 fadt Ao @ oatEa wel R

(1) T 1 s i

(2) shr e fd

(3) SR e et 2R ifd

(@) 3w d A HE T

Trading on equity and capital gearing are
(1) for diversification of Financial Plan
(2) limitations of Financial Plan

[3) factors determining Financial Plan

{4} All of the above

FuAT W AR agn g g

(1) fdfn P % fafafe & o @

() forefra e A whand 2

(3) frfra g =1 fuifm & 99 F0F 3

(4) ITH ot
18
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IJx«lrhit:h one of the following should be taken into Account while preparing a
Financial Plan?

(1) Anticipation oI contingencies (2) Liquidity

(3) Combinations (4) Both (1) and (2)
g 4 4 fadly 29 fan =@ ww fm el @ wm 2 auy
(1) arafEraed # gaigem (2) et

(3) @ (4) (1) @ (2)

Overcapitalization occurs when

\1) Actuaal rate of carning > Current rate of earning
(2} Real value of business < Book value of business
(3} Real value of business > Book value of business
(4) Actual rate of earning < Current rate of earning
At Az g 2 99

(1) i ™ 6 F > WA 7 Hil T

(2) FNR F FEAGF Tod < AR & 7@ T4

(3) SR F AWF T > FAMH F 7@

(4) arsfa® 3G i W < T AT F T

When realizable value of the stock is less than its book value, it is
(1} capitalization (2) overcapitalization
(3} undercapitalization (4] watered capital

19 (P.T.0.)
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ﬁaﬁw@m&?ﬁwquﬁam%,ﬁwm%
(1) iR (2) fagsie (3) 3rEgie (4) s s

50. Capital structure influences
(1) risk of the firm
(2) risk of the equity shareholders
{3) risk but not return
4) Both (1) and (2)
ot w3
(1) =ge|mE % HEq & (2) smanfEi % siflaw =
(3) sifigw i i wfaher i 7 (4) (1) wd (2) @

51. Which one of the following is not affected by capital structure?
(1) Total tax liability (2} Return on equity capital
(3) Operating profit (4) Earnings per share
Puafufiea # @ ag #-m 1 G W A RR T 27
(1) Fo H IS (2) A 7 T
(3) uftare @ (4) 3ft 3w e

52. Cost of capital has been defined as cut-off rate for capital expenditure by
(1) M. J. Gordon (2) Scloman Ezra

{3y J. J. Hampton (4) Milton H. Spencer
(18) 20
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95.

(18]

18P/201/21 Set No. 1

ﬁ'mﬁ%@ﬁ%‘iﬁﬁaﬁ%%&ﬂ%w&w%

(1) Wo So M7 # (2) W T F

(3) Sto o BWEA = (4) feem wmo wimmr W

If debentures of Rs 1,00,000 carrying 12% interest are issued at a discount of

5% and the expenses on issue is Rs 1,000 and it is redeemable after 10 years.
What will be the cost of debenture?

aﬁiz%marwm1,@0,000;oaﬂ%aﬂ15%a§_1mﬁﬁﬁaﬁmw%,
fring @ @d 1,000 %o 0 35F FWEd 10 a9 § 29 2| T3 T oawE wm
Fhm ?

(1) 12% (2) 13% (3) 14% 4) 11%

10% Preference shares of Rs 100 issued at par value, issue expenses amounts
 Rs 2. Cost of preference share capital after tax will be

10% TAUFER AN 100 %o Hed H1 GUYed W fFifgd 21 Fring =@ 2 %o |
AR oiw gsft f arm ah

(1) 102% (2) 10% (3) 20:4% (4] 20%

Which one of the following is not the advantage of stable dividend policy?
(1) Convenience in funds generation

(2) Preference by investors

(3) Stability in market price of shares

(4) Adjustment of loss

frefafaa & & sE-ar fEr v Afife = @ =5 22
(1) fam wfw & gy (2) RfEeT ft g

(3) 3 F IR geg § fma (4) TE 1 FEEEA
21 (P.T.0.)
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56.

57.

58.

(18)

In which one of the following model of dividend policy, the pay-out ratio 1 very

less or sometimes it is zero?

(lj Normal Firms—Walter Model (2) Modigliani and Miller Model

(3} Declining Firms—Walter Model (4) Growth Firms—Walter Model

it S % Fw Aied % HER YWH SEH wgd A A F-Fft @ g
87

(1) W SN —aT qed (2) wrEfeaHt T fier afsa

(3) wrpraRfe weaTd—aes wied (4) Frprasfe dond_awo wEE

In Cash Flow; income tax paid is treated as

(1) operating activity (2) investing activity

(3) financing activity (4) not shown anywhere

e VAR ¥, HWEE qEE # AE S R

(1) d=mer T (2) fafam Gea

(3) i e (4) = @ fomm s

When equity sharcholders funds exceed the total of debentures and preference
share capital, the capital structure is referred to as

(1) high geared (2) low geared (3) even geared (4) None of these

S gEaT st ¥ o weeE R qaieRd o S % AW A ufus @ 9w 2,
A st @ FwE e R

(1) 3= T 2) =1 g (3) WO FRFA (4) H H FE T

22
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89, For the purpose of calculating ROI, capital employed means

60.

18

1} net fixed assets

(2] current assets - current liabilities

[3) fixed assets + current assets + current liabilities
(4) fixed assets + current assets - current liabilities
FoxqledTEe (ROI) & TR gq fraifera st =1 a1 2
(1) g ol weatat

(2) =Tl Gwferl — A1 A

\3) v el + 9] Wl 4 9T et

14) warfl geafedl + e geafal — = ofad

Dividend cover 1s calculated as

(1) profit after tax and interest/dividend
(2) net profit/dividend

(3] profit after tax/dividend

(4) profit after depreciation/dividend
AT A0 O S St 2

(1) o T =00 % TS /ST

(2) 9Tg AT /AT

(3) F & UvEE /AT

(4) B % GYER /ST

23

(P.T.O.)
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61.

62,

63.

(18)

The primary objective of business is

(1) maximum profit (2) maximum service

(3) profit first and service next (4) service first and profit next
EdE F qed 329 ©

(1) AfUEhTd T (2) FferRam T

(3) w49 @ e "a (4) T4m " Tt @

Which one of the following is not the social objective of business?
(1) Optimum utilisation of resources

(2) Honest payment of State-taxes

(3) Community development

(4) Conducive working conditions

Frfofas 8 @ ®H-m =gg@ & i B T8 27

(1) = 1w (2) ® A AN
(3) wmEIfae fos (4) 3foa wm $ gemd

Which one is correct in the following?
(1) Trade is a part of industry

(2) Commerce is a part of trade

(3) Commerce is a part of business

(4) Industry is a part of commerce

24
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Frerferfad § & FH-m w8 20

(1) AR F& # 3m 2 (2) Frea R # %
(3) AT SgIEE F AT B (4) Fam Ffoeg #1 R
Combinations are

(I} not in the intercst of consumers

(2) in the interest of consumers

(3 Dacmful W consumers
(4} not i the interest of consumers and are harmful to them
(L) e % fed | Ad 2

(2) o & feq A 2

(3 Tt & fore TfRTE €

(4) J9HTTh % T ® wE qen wfere @

The birth place of Trust 1s

(1) Germany (2) America (3) England (4) France
TR 1 S R
(1) s (2) I (3) AT (4) ®ME
The existence of Holding Company is
(1) legal {(2) voluntary
{(3) on moral ground (4) on cooperative basis

A

(P.T.0)
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Fam Evt F1 sifeae g @

(1) denfaes (2) =%

(3) Al IR W (4) TERITET % AER T
67. The origin of Pools in America was

(1) in 1740 (2) in 1840 (3) in 1940 (4) in 1945

adi w ImiEh W 3 qA A

(1) 1740 ® (2) 1840 (3) 1940 (4] 1945

68. The birth place of Holding Company 1s

(1} India (2) America

(3) Germany (4] None of the above
qII F FFRIE 2

(1) wra (2) FmfERT

(3) st (4) ST A B g A

69. Which one of the following is not the objective of vertical combination?
(1] Coordination among production process
(2) To remove middle-men
(3) Control over quality of production

(4) Establish equilibrium between demand and supply

(18) 26
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ﬁq&\f@aﬂﬁaﬂq-mmmmwﬂ?ﬁﬁ?

(1) 39T fFmratl & wes s @

(2) werR & OHIY w0

(3) I % Fewm w g wwn

(4) wim FH g & g TUIE HEAT

Iwi;;.:f; one of the following is not the reason for slow combination movement in
Nl :

(1) Businessmen in India do not like to lose their ownership after making
combination

{2) In India, there is lack of competition in industnal field resulting into slow
progress of combination

{3y Combinations in India are not in the interest of the consumers. It is harmful
to consumers

i) Mone of the above

a4 8 FH-81 ¥RG § HA9A AGen #i ol afy @ e T8 30
(1) s Jarmafa gareq # oo & 32 w8 s e 58 @ awes

(2) wra # oAeifig &7 4 wfewel # s R wformaey d@e A e sga b
2
(3) i #, wUoA e & fea A 8 R o smiiwei % fau wfens 2

(4) 370k ® ® 3 T

In line and staff organisation, staff is
(1} ordinary worker (2) officers

{(3) cxperts (4) Both (1) and (2)
27 (P.T.0.}
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T2.

73.

74.

(18)

@ @ et w@reT § FHE g §

(1) =T S (2) SAferRRTT

(3) P @ (1) @ (2)

For large sized enterprises, the most suitable form of organisation is
(1) line organisation (2) functional organisation

(3) line and staff organisation (4) formal organisation

9 AN 9 JuHAl & fom mew afies awpe w3

(1) T@l e (2) Torarens T

(3) Tar st wHu G (4) W=l HTeq

In which form of organisation the Foreman’ hecomcs the Driver of hie
subordinates instead of their leader’?

(1) Line organisation (2) Functional organisation

(3) Committee organisation (4) None of the above

g e Wt § B o R v s amt o w Y@ s 3w S
o A g7

(1) Y@ g (2) fraTens HSH

(3) wfufd Hea (4) 30 B Frd

The definition of management given by Lawrence A. Appley indicates the
(1) effort of other people (2) cooperative group

(3) formally organised groups (4) Both (1) and (2)

28
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77.
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A Vo W T W Yo F U 3 e 2
(1) 78 =l & wam (2) TEFH YR
(3) st widn Wit 4) (1) @& (2) 3

In advanced countries like USA, France, Germany, UK and Japan, the
development of management has been in the form of a

(1) profession (2} process

(3] group effort [4) None of the above

farfim 9l AR swtem, wiw, widl, et qu1 S9A |, w1 fawm @ g R
(1) T & & ¥ (2) i % ®=9

(3) ArfeH T & ®Y H (4) ST0F ° B F3 T

The founder of Scientific Management Concept is

(1) F. W. Taylor (2) George Elton Mayo

{3} Peter F. Druker (4) None of the above

AThF yay ¥ sEumon 1 Fmia @
(1) The oo IeH (2) Se Teed ww
(3) dIeT Who gl (4) I °H & = T

When was Scientific Management introduced?
AFTF G F He IO GIY

(1) 1832 (2} 1903 (3) 1913 (4) 1950

29 (P.T.0.)
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T8.

19.

80.

(18)

Social responsibility of management is not towards whom?

(1) Themselves (2) Government
(3) Customers (4) Financial aspects

ey 1w eI e aft @ 27

(1) T (2) TR (3) e (4) Tt wEaa

Secondary function of management 1s not

(1} coordination and control (2) staffing and direction
(3) planning and organisation {(4) All of the above

TS F1 HEdF FE TRl 8

(1) 99 a1 fm (2) e qer v

(3) fEem aun we (4) 3w at

According to Graicunas theory, the increase in direct, cross and group
relationship between the superior and subordinate, it is in

(1) geometric term (2) harmonic term
(3) arithmetic term (4) None of the above

IFTE & frge & e w oW sl W@ sl § ofe 9oy, e win
e 4 3fg < 2, @@

(1) TUieR Wi # grar 2 (2) wwHE wiE # Far 2
(3) &R 9 ° g 2 (4) 37w F F w1

30
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83.

18)
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Delegation is

(1} downward (2) upward (3) lateral (4) All of the above
W (Delegation) &hr 2

(1) srerimmst (2) S (3) wifed= (4) 3T Wit
Which one of the following statements relating to decentralisation is true?

(1} Right to take decision is also delegated in decentralisation.
(2) Responsibility is not delegated in decentralisation.

(3] Decentralisation and delegation both are equal.

(4) Both (2) and (3)

Fefefad 3 8 $9-m F97 fkdmm safim od 27

(1) faio & fofo 37 =1 ofmr o dfer sr 2

(2) SFSEm § g wd dfa s 2

(3) foep=dimor Aom wmrdo 2N TWE R

41 (2) w (3) FA

“Staffing pertains to the recruitment, selection, development and compensation
of Managers.” This statement is of

(1} Koontz and O'Donnell (2) George Terry

(3) Theo Haimann (4) Patrick ‘-E. Connor

"R, et fiood], I 9, faem Wl @ e @@ 2w s
2

(1) 2 ©d 3o AT # (2) st 2f W
(3) form & (4) 9Tz o FIIT
31 (P.T.0.)
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84. For which purpose, planning is done in the organisation?

(1) Rigidness  (2) Liberalness  (3) Flexibility ~ (4) Effectivencss
e Gmed ¥ frn Rwm & foe e smar 27

(1) Faren & feg (2) e & fore

(3) draqui & fere (@) waidl ol fag

85. The Doctrine of Privity of Contract is concerned with
(1) Information Technology Act, 2000
(2) let the buyer beware
(3) consideration
(4) Sale of Goods Act, 1930
we & afig & fagm awfad @
(1) ga stenfER sferfFEs, 2000 (2) Hd1 TEUR T
(3) Wi (4) W fowa wfag afafam, 1930

86. Unpaid Seller has a right to
(1} repay the price (2) lien

(3) repudiate the contract (4} None of the above

agd fgpar % g i g R
(1) FMa & [ TEE (2) HToTRET
(3) sfFm ® F4 # (4) 370 § ¥ F$ 9

(18) 32



18P/201/21 Set No. 1

87. An agreement not enforceable by Law is said to be
(1) Void Contract (2) Illegal Agreement
(3) Void Agreement (4) Voidable Contract

T FR A Ay gRr srwedda v @, 3@ FEd B
(1) Y Hfam (2) SETHF FH (3) I TN (4) Y=EROMT EfaE

88. Which one of the following is not a feature of partnership?

(1) Unlimited liability (2) Direct motivation
{3) Mutual agency (4) Utmost good faith
Frafafea & & #-m sl =1 @gn 8 27
(1) i Ziae (2) Y& T
(3) wrerfi sfiem (4) vH ®g fovam
89. Where the consent of both the parties is given by mistake, the contract is
(1) wvoid (2) valid (3} voidable (4) illegal
ST G vaeTl A wEAld qw A WH @, @ o wemly @
(1) = (2) Rfrr= (3) Tty (4) sifafemr=
90. The meaning of the Doctrine of Caveat Emptor is
(1) let the seller beware (2) let the buyer beware
{3) let the creditor beware (4) let the producer beware
‘Hfawe wue’ figra #1 e @
(1) fesban wmau™ @ (2) a1 HEUE ®
(3) VR G @ (4) IEF FTIH @

18 33 (P.T.0)
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91.

92!

93.

(18)

Opposed to Public Policy means

(1) if the Court regard it as immoral

(2) inoperative in the eyes of Law

(3) subsequent impossible to perform

(4) if public makes it inoperative

AF F fawg @ amem ?

(1) W Jad 3§ s M (2) fafa i g @ e
(3) o # T #=1 A7 smeE (@) AR S W AfEmFE T
A contract to do or not to do something if some event collateral to such contrac
does or does not happen 1is called

(1) Contingent Contract (2} Void Contract

(3) Quasi Contract (4) Voidable Contract

fpft o & 3 T 3 7 o3 dfaeg F Rl v s wfm i owm A e
finft @ar 2, 38 #ed @

(1) wratfes wfae  (2) = ol (3) = nf () Tl il

An instrument in writing containing an unconditional order signed bv the
maker is called _

(1) Cheque (2} Bill of Exchange
(3) 10U (4) Promissory Note
v fafga faera Tl fom o smew foes go senafa &
(1) ¥ e

(2) faFma @ wgama 2

(3) ®W wiplfa wx (3MRo3Moo) Faerl &
(4) 999 97 FEeTdl B

34
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94. A person who receives a negotiable instrument in good faith and for valuable

95.

96.

18]

consideration is known as

(I holder (2) holder for value
(3) holder in due course (4) holder in right

F A T fF HEEH T graen ufiee @Ey W e wH oA R, 9w
TR R

(1) ameh (2) He4dHE HRH
(3) T FFT uWF (4) FATHHIE UTH

Which one of the following is not a feature of a company?

(1) Mutual Agency (2) Common Seal

(3) Artificial Person (4) Perpetual Succession
frfefiad 4 8 -0 Fodt F1 o 78 27

|1 eI e (2) A FEE

(3) FHEm =t (4) IV ITIeER

Non-transferability of share is a feature of

{1) Public Company (2) Private Company
(3) Partnership (4) Holding Company
siq1 ) IO O 8§
(1) TS FEHT F (2) Fft et =
(3) ATEEA # (4) qFEl e F
35 (P.T.O.)
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97.

98.

99.

(18)

Actual money is related t0

(1) unit of currency and unit of amount

(2) commodity money and representative money
(3) legal tender money and optional money

(4) currency and deposits

TEAF qg A

(1) e B s q e o @ R

(2) g o M WA g R

(3) fftmm g @0 ¥ew qm A 2
(4) FE=A qUT T H 2

Convertible Paper Moncy

(1) can put check on inflation (2] can put check on recession
{3) is an emergency money (4) is a voluntary money
fradviie o 4

(1) TErehfy T OF @ wd (2) " T TH T HHA B

(3) wepewIA gl 2 (4) ok ofew T 2

On which the Gresham’'s Law is not applicable?

(1) Standard Money (2) Paper Money

(3) Fiat Money (41 All of the above

dem w1 fraw fFg o a7 w27

(1) waifor qg1 (2} T g (3) wifze Tz (4) ITIE oft
36
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100.  Which principle of Note Jssue is also called security principle?

101.

102.

|18)

(1) Banking principle (2) Gresham’s principle

(3} Currency principle (4) None of these

dre ot & form fagrm =t qun @& fag oft == 22

(1) dfkn g (2) dvm g () oW g (4) T8 FE T

In comparison to Fishers approach, which one of the following statements 1s
uue for Cambridge approach?

i1} Long-term analysis

(2] Dependence on interest rate for cash balance

\3)y More importance of money supply

{4) More importance of demand for money

frm ¥ g 1 qan 4, fefafe o 4 8 9w o e g &
fm, ## R7

(1) ddemfeoe fawerm

(2) e B % fae smw @ W P

(3) ga1 & #gfd @ A e

(4) gg1 @ A F S T

According to Friedman’s quantity theory of money, the elasticity of demand for
money in relation to the general price level is

(1) 1 (2) more than 1 (3) less than 1  (4) zero

drein & g f owm g F OIEER g A A R AN, e EEE TR OF
gy §

(1) 1 ® R (2) 1 & s g 2

(3) 19 F9 @@ 2 (4) = g 2
37 (P.T.0.)
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103.

104.

105.

118)

; ; anki oulation
Since when, the Banking Companies Act, 1949 18 termed as Banking, Regu

Act, 1949 ?

(1) 1st March, 1956 (2) 1st March, 1960

(3) lst March, 1965 (4) 1st March, 1966

frr myg & afen st sifufm, 1949 & dfer fma sfafEm, 1949 w71 @9
37

(1) 1 @, 1956 ¥ (2) 1 A€, 1960 @

(3) 1 4, 1965 § (4) 1 99, 1966 d

Under which Section of Banking Regulation Act of the RBI, a company can draw
Licence for Banking Business?

(1) Section 22(1) (2) Section 5(R)

(3] Section 23(3) (4) Section 11(1}

F FOCR, 4fEn EEE FH % oo, fod S F S s afufem ¥ B oam
% aEd SHA-TA WH KA B7

(1) g/ 22(1) (2) 'm T 5(B) (3) |H 23(3) (4) =W 11(1)

Of all the assets of a bank, the most profitable asset 1s
(1) investments (2) loans and advances

(3) call money (4) discounting of bills

d# F1 T simmtagr # 8§ geg onees aheef 2

(1) Ffmm (2) ®% 9 AWH  (3) AW @ (4) et £ A
38



18P/201/21 Set No. 1

106. The ohjective of IFC is not to
(1) encourage private enterprise
(2] coordinate capital with management
(3) encourage foreign trade

[4) encourage consortium f{inance

sttt fom w1 w2

(1} Fsft 3em =+ gt o (2) st qur wor" B chipa w@
3) Taesh gsh ® S (4) RO HEl F FIeHTEA 2

107. J. M. Keynes has classified money as
(1} actual moncy and money of account
{2} umt of currency and unit of account
|3} legal tender money and optional money

(4) metallic money and paper money
%o Wo F I gz F Tfiga e 2

(1) aredfosh gg1 i feamw g (2) deW Ao o few g
(3) faftmmer ggr @it W qa (4) W Hgr it A g

108. Which one of the following is not a characteristics of bimetallism?
(1) Circulation of gold and sihzr:r coins together
(2) Coins are unlimited legal tender
(3) The ratio between the gold and silver coins 1s fixed by market rate

(4} Both coins have equality between face value and intrinsic value

‘18, 39 (P.T.O.)
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P § 3 Fh-m Fargm H fwn @ 27

(1) "R ol St % fowl w1 wEEY Ao

(o) o awlifia wt Ffa @
(guﬂﬁaﬂtaﬁ%ﬁﬁ%dﬁﬁaﬁqﬁmﬂﬁﬁﬁﬁaﬁm%
{4;%%&%3&&@@1%&@%%%%

109. Which one of the following is not the responsibilily of a Business Economist?
(1} To earn reasonable profit on capital emploved
(2) To make successful forccasting
(3) Recruitment and selection
(4) To inform the management [ur errors
Afafin § § -T IoRee, SEEE A #5 OAE 27
(1) fafEifem qsf v sfaa @ FAE

(2) Wl QAT TR
(3) wdfl vA W FA
(@) R B I H ST F

110. Business Economics mainly helps the firm in decision making and

(1) planning (2} communication

(3) leadership (4) motivation

smaEiyE srdys v @ folm W —— § 7 seEa
RECIE (2) BeyrETEHA (3) g (4)

(18) 40
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113.

114,

18

18P/201/21 Set No. 1

Diamond-Water Paradox of Utility was explained by

(I} Adam Smith (2) H. H. Gossen
(2} Bentham (4) Marshall
AT % BU-9 fauudE £ S —— % gm o
(1) vzm fary (2) THo THo A
(3) (4) A

Indifference Curve was first used in the vear

T T F O AN 7] —— § g0 4

(1) 1881 (2) 1906 (3) 1915 (4) 1934

The proportionate method of elasticity of demand measurement was
propounded by

(1) Marshall [2) Flux (3) Adam Smith (4} Ricardo
am # A A $ Auries G # gfa 3 fomm am
(1) Wt (2) wTFE (3) t=n fory (4) el

The demand for a commodity is said to be elastic if the total amount spent for
the commeodity 1s

(1) less when the price is low and more when price is high

(2} same whether price is high or low

(3) more when the price is low and less when the price is high
(4) None of the above

a1 (P.T.0.)
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Rl qe A A e Fw S AR A WFd S
(1) A T2 W T o HmE wed W e @

(2) Fa sed @1 T i T

(3) Fme T3 W R o Find wgd WA

(4) 390 d F FrE A

115. The correct relationship among AM, GM and HM 1s
AM, GM 3T HM ¥ ot &8 @y 2
1) AM=GM =HM (2) GM = AM = HM

(3) HM 2 GM > AM (4) AM = GM > HM

116. Which one of the following means is most affected by extreme values?
(1) Geometric mean (2) Harmonic mean
(3] Arithmetic mean (4] None of the above
frefafgg § 9 F-31 Wy fwad g @ "aius wnfad w20
(1) TOeR AT (2) TIHH FA
(3) AR WIEA (4) IWIE F & Hig T

117. Formula for coefficient of variation is

SD Mean
1 x 100 2 100
) Mean ' (2 =S ¥
Mean x SD
(8) ———— (4) - o0 __
100 Mean x SD

(18) 42
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119.

120.

(18)
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T F g e @
9 feraer e
[} =—————%100 (2) ———x100
ey AMHE=E
H 100 e X "o T

Which one of the following measures of dispersion has a different unit other
than the unit of measurement of values?

(1] Range (2) Mean deviation

(3] Standard deviation {(4) Variance
fFefeifaa 4 & H-81 faded & WF &1 0EE 39 H9H] & TEF A [y 27
(1} famm (2) WEm faEed (3) U fEem (4) wEm

Which 1s the most preferred tvpe of average for index numbers?

(1] Arithmetic mean (2) Geometric mean
(3) Harmonic mean (4} None of the above
qaF# * v gad y9fed A sa-an 27

(1) TR Med (2) O e

(3) ECHE HIEH (4) 3T H ¥ FE I

The Dorbish-Bowley price index formula is

(1) Geometric mean of Laspeyre’s and Paasche’s index number
(2) Arithmetic mean of Laspeyre’s and Paasche’s index number
(3) Weighted mean of Laspeyre’s and Paasche’s index number

{4} None of these
43 (P.T.0.)
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SUENEE R I G A EIC I

(1) SR 3N qvE GEEHF F O[O AT
(2) Anfrm 3R TR gEEE A A
(3) SR 3 ywe guwiE @ i o
(4) T ¥ Hr3 T

44 D/8(18)—183:
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13.
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avafidat & fo Fem

fmﬂﬁm*mmqgmamﬁc@u&ﬂ'{oﬂqﬂﬂ;ﬂmqmm
wae Al /FE aw-wEe 43 8 @ fad)
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g7 TE1 fZar FrEm a7 AteTqoHTe TH-UF FT F# geaiwd fHEar awm)

avit it wau serv-yg o S /Ew am 99 8 fuife wew w e

HtoTHoHNo I -UH * WUH Y8 W U7 & w1 swwia Fuifm wom w fad =an F12 f7 3+

&I M F | Tel-El AEVEAF 7 A2 TvA-GTTAE B EHIE WA g wiT AR AU A2 @ A
stem rum @ o

AloUHoH Ko TW-TF W INFHF Fem, vA-Ifesw dwn g dz wen (afz #1¢ @) qu wm-
qfed W HIFATE Fe M HoTRowmWe IW-F He i wiafew d ufmrma i sy W 2

IR uffal d w3 f ufeds ww Few g owe S wfE s aw ovw safen g
F W g FE

g -4 0 9REF T % 90 d%fers T T W F ueow uvy & dwfous 397 & (1R e
oo Ao ITI-UH &1 WEAl-ad s & \HA 33 7 g7 &t HlolHoHNo IH-TF & T gE
w fez 73 fdw & sqgum 93 # mer & 2
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TE gA F AN W T AR I TEA A AEMG

2 TR U g1 SR 2 #Td 3 9500 98 o @1 e A o e 99 #5139 99T e aee
g  watim ifF F g 7 ™ w39 w® o@reh 'tz 3 0F v w o a6F A s
o & o wA-yfes # gaEie % s 9w qm AW A 9w oW\ o w1y
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